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QUESTION 1

Class StaticField {

static inti =7,

public static void main(String[] args) {
StaticFied obj = new StaticField();
obj.i++;

StaticField.i++;

obj.i++;
System.out.printin(StaticField.i + " "+ obj.i);
}

}

What is the result?
A.10 10

B.89

C.98

D.710

Correct Answer: A

QUESTION 2
int nl[]J[] = {{1, 3}, {2, 4}}:
for (int i = n.length — 1; 1 >= 0; 1i—) {
for (int 7 = nl[i]l.length - 1; 37 >= 0;
System.out.print(n[i] [j]):

Given the following segment of code:
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Main java [£] . java version "1.8.@_31"
= Java(T™) SE Runtime Environment (build 1.8.0_31-b13)
‘.:. class € { Java HotSpot(TM) 64-Bit Server W (build 25.31-b@7, mixed mode)
: : > javac -classpath .:/run_dir/junit-4.12.jar:/run_dir/hamcrest-c
i public C() { . ore-1.3.jar:/run_dir/json-simple-1.1.1.jar -d . Main.java
' System.out.print("C "); Main.java:13: error: class A is public, should be declared in a
5 } file named A.java
6 } public class A extends B{
7 A
8 class B extends C{ 1 error
9 public B() { compiler exit status 1j
10 System.out,.print("8 ");
11 }
12 }
13  public class A extends B{
14
15 public A(){
16 System.out.print("A ");
17 }
18 public static void main(Stringl] args) {
9 Aa=new Al);
20 }
21}

Which two statements, if either were true, would make the code compile? (Choose two.)
A. MotorCycle is an interface that implements the Cycle class.

B. Cycle is an interface that is implemented by the MotorCycle class.

C. Cycle is an abstract superclass of MotorCycle.

D. Cycle and MotorCycle both extend the Transportation superclass.

E. Cycle and MotorCycle both implement the Transportation interface.

F. MotorCycle is a superclass of Cycle.

Correct Answer: BC

QUESTION 3

Given:

Public class Circle
double radius;
Public double area:
Public Circle (double £)

(-

. { radius = r; )

ptailc d-:alrlb.le getR-&:&diua[} { return radius; )

P JLLr.-: voilid SetRadius (double r) { Tadiugs = r; )
’ public double getArea () { return /* 2272 =7;: )

class App {
public static void main(Stringl]
Circle cl1 = new Circle(17.4):;
cl.area = Math.PI * cl.getRadius () * cl.getRadius():

args) ({
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The class is poorly encapsulated. You need to change the circle class to compute and return the area instead.
Which two modifications are necessary to ensure that the class is being properly encapsulated?

A. Remove the area field.

B. Change the getArea( ) method as follows: public double getArea () { return Match.PI * radius * radius; }

C. Add the following method: public double getArea () {area = Match.PI * radius * radius; }

D. Change the cacess modifier of the SerRadius () method to be protected.

Correct Answer: BD

QUESTION 4
Given the following class declarations:

public abstract class Animal public interface Hunter public class Cat extends Animal implements Hunter public class
Tiger extends Cat

Which answer fails to compile?

A. Option A
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B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: D

QUESTION 5

Given the code fragment:

vublic €lass ‘App §
int count:

public static void displayMsqg ()

count++;

{

System.out.println (“Welcome “+"Visit Count: “+count

}

public static void main (String

App.displayMsg ():
App.displayMsg ():

What is the result?

A. An exception is thrown at runtime.
B.-1

C.5

D.0

Correct Answer: C
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